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’ 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZhLs — -~ — —| #h st -~ — — — ZhLs — -~ — —| Fhist -~ — — —
9 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZhLs — -~ — —| #h st -~ — — — ZhLs — -~ — —| Fhist -~ — — —
3 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZhLs — -~ — —| #h st -~ — — — ZhLs — -~ — —| Fhist -~ — — —
4 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00| 0.00 ~ 6.79 85.79 | #nList | 000 ~ 6.79 | 1.92 9.71 ZznLst 1.00 | 500 ~ 8.80 85.79 | #nkl4t | 500 ~ 8.80 | 1.92 9.71
5 100kN/m%#8 x5 1.00| 0.00 ~ 258 14047 |3mEREZ S -~ — — —| 100kN/m#%#8%%| 1.00 [11.19 ~ 30.81 14047 [3mZEBZ D -~ - — —
ZznLst 1.00 | 258 ~ 10.36 100.00 | #1List | 0.00 ~ 10.36 | 2.83 14.29 ZznLst 1.00 ] 500 ~ 11.19 100.00 | £ ist | 500 ~ 30.81 | 2.83 14.29
6 100kN/m%#8 x5 1.00] 0.00 ~ 272 14295 |3m&EREZ S -~ — — —| 100kN/m#%#8%%| 1.00 [11.03 ~ 31.84 14295 [3mZEEZ D -~ - — —
ZznLst 1.00 ]| 2.72 ~ 10.51 100.00 | #1List | 0.00 ~ 1051 | 2.85 14.41 ZznLst 1.00 | 500 ~ 11.03 100.00 | #hist | 500 ~ 31.84 | 2.85 14.41
7 100kN/m%#8 x5 1.00 ] 000 ~ 281 14440 (3mZFHBZ D -~ — — —| 100kN/m#%#8%%| 1.00 [10.96 ~ 32.59 144.40 [3mZEEZ D -~ - — —
ThLS 1.00 | 281 ~ 1059 100.00 | #xLust | 0.00 ~ 1059 [ 2.87 14.48 ThLS 1.00| 500 ~ 10.96 100.00 | #hkist | 5.00 ~ 3259 | 2.87 14.48
8 100kN/m#%#8x%| 1.00| 000 ~ 280 144.25 |3mZ#BZ 5 -~ - - —| 100kN/m%#8%%| 1.00 [10.56 ~ 25.00 144.25 [3mZ#B x5 -~ - - —
ThLS 1.00 | 280 ~ 1058 100.00 | #h st | 0.00 ~ 1058 | 2.66 13.47 ThLS 1.00| 500 ~ 10.56 100.00 | #hkust | 5.00 ~ 25.00 | 2.66 13.47
9 100kN/m#%#%%| 1.00(| 000 ~ 1.38 120.95 [3mZi#BZ 5 -~ - - —| 100kN/m%#E%%| 1.00 [11.36 ~ 17,51 120.95 [3mZ# x5 -~ - — —
ThLs 100 138 ~ 9.16 100.00 | #n st | 000 ~ 9.16 | 2.01 10.16 ThLs 1.00| 500 ~ 11.36 100.00 | #h kst | 500 ~ 1751 | 2.01 10.16
100kN/mM#Z#BZ % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZD ~
ThUS ~ Zh s ~ ThLs ~ ZhLlst ~
100kN/mM#Z#8Z % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZD ~
ThUS ~ Zh s ~ ThLs ~ ZhLlst ~
100kN/mM#Z#8Z % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZD ~
ThUS ~ Zh s ~ ThLs ~ ZhLlsh ~
100kN/mM#Z#BZ % ~ ImEHEZD ~ 100kN/m##8 2% ~ ImEHBZD ~
ThLs ~ Zh s ~ ThLs ~ ZhLlsh ~
100kN/mM%#8Z % ~ ImEHEZD ~ 100kN/m##8 25 ~ ImEHBZ D ~
ThLs ~ Zh s ~ ThLs ~ ZhLlsh ~
100kN/mM%Z#BZ 5% ~ ImEHEZD ~ 100kN/m##8 2% ~ ImEHEZD ~
ZhLS ~ Zh s ~ ZhLS ~ Zh Lot ~
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